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and its part number on answer book, as given in the question paper.

2. Attempt any six parts.

() Define Fossil Fuels.

(W)  Describe law of Conservation of Energy
(i)  Define Nuclear Fission,

(v)  What do you mean oy Tieal Power?

{v)  What is meant by Elastic Potential Energy?
(Vi) What is meant by Greenhouse Effact?
(vil) What is meant by Charging of Capacitor?
(viii) Define Electricity,

(ix) Write mathematical shape of Ohm's Law
3. Attempt any six parts,

()  Whatis meant by Stepup Transtormer?
() What is meant by Aiternating Current?

(i) Define Fuse

(iv) What is meant by Reverse Blased Diode?
(v) Define Photodioda

(vi) Define Input Devices.

(vii) What is Centra! Processing Unit?

(vill) Define Software,

{iX)  What is Modem?

4. Attempt any six parts.

(h  What is meant by Holography?

() What (s functicn of RADAR?

(i) Define Isotopes,

(iv)  Write two benefits of X-rays,

(v} Write two uses of Laser

(Vi) How steel is made harder?

(Vi) Define Climatology

(viil) Write two sdvantages of artificial satellites,
(ix)  Write two basic objectives of SUPARCO
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SECTION-II [t

NOTE: - Attempt any three questions,
S{A) Describe any two traditional methods for production of Electncity. 4
(B) Explain the steps to minimize environmental degradation
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8.(A) Describe the uses of Direct Current and Alternating Current. 4 Fobe WL Bl ol (U

(B) Write a nota on Fuses ang Switches

T{A) Write two uses of Semi-conductor Diode,
(B} Write 3 note on Input Devicas

8{A) Describe Sugar Processing steps in datail,
(B) Write a note on Leather Industry.

8.(A)} Describe the Nuclear Power programme of Pakistan,

(B) Expiain SUPARCO and NASA.
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Note: you have four choices for each objective type question as A, B, C and D. The cholce .Qf.af‘f,callr
which you think is corrct, fill that bubblae in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank, No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 R

(1) Traditional method for production of electricity is - e MRLSgE ()
(A) Solar power 1544 (B) Nuclear power .s; 7% (C) Wind power st 2 (D) Geothermal power it

(2) Ethanol Is & substitute fuel of - e BIBIIN @2)

. (A) Gasoline ¥2?  (B) Fumace ol {77 (C) Kerosene ¥EL S (D) Diese! jelly ¥z

(3) Air s present up to the height of about ___ from the surface of earth.  .cszrinof _ oaldt: ©
(A) 100 km ¥ (B) 200 km ¥ ) 300 km R (D) 400 km

(4) One milkampere is equal tor- 0/ e SAEL @)
A 107" A 8 1024 (C)%~ (D) 104 A

{5) The unit of potential difference s - ®/ i e ANSY (5)
(A) Meter (B) Kilowatt hour wis¥  (C) Ampere 24 (D) Volt s

(8) The constant in Ohm's Law is:- 'S IO S L )
(A) Current &2/ (B) Potential difference u235/%; (C) Resistancé ¢uitusj, (D) Charge &/

(7) Beam on TV picture tube consist of - . ,f. .4.5‘;4":2:'{.,2 ,ﬁfn& (7)
(A) Electrons %28 (B) Protons 75y (C) Neutrons s (D) Photons 47

{8) Number of Links used in communication are - - Py Jibi.xdv"'lu: u’-’g:r (8)

" (A) One i (B) Two » (C) Three £ (D) Four Jjg

@) is not input device. el @
(A) Keyboard L (B) Mouse it (C) Scanner & (D) Printer £

(10) In messages are transmitted in the form of codes:- et P et (10)
(A) Telegraphy (/i (B) Telephone oA (C) Telescope oAt (0) Fax /f

(11) Laser beam travels in direction\directions et @572 (1)
(A) One £ (B) Two 5 (C) Three & (D) Four /4

(12) To raise the intensity of light we use in Laser:- AL WL Ll Pilinied (12)
(A) Convex mirtor ;%% (B) Plane mitror ,su¥ (C) Concave mittor .72 (D) Biconvex mirror AT

(13) Optical fibres are fine strands of - ALk AT (13
(A) Plastic £ B4 (B) Metal Z & (C) Glass Zf (D) Rubber £ .

(14) Angiography provides inside pictures of - <Gk budE (4
(A) Veins (s (B) Capitaries Sy & (C) Skin (b (D) Arteries Sy 2

(15) Pakistan did atomic explosion in:- Lledng Lty (18)
(A) 1992 (B) 1994 (C) 1996 (D) 1998
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SECTION-l Jio

2. Attempt any six parts. 12=2x6 i fevrlinge § 240
(i)  Whatis meant by Work? tedpedn @
() Define Nuciear Energy RESST ARSI SR
(i} Define Thermal Power ~EA7 i)
{iv) What is meant by Degradation of environment? eV (iv)
(v} Wnat s the difference between Elastic Potential Energy e AL Ji‘J’if«ﬂJi'ﬂ Ft ()
and Potential Ensrgy?
(vi} Whatis Nuciear Fusion? e Yo (i)
{(vil} What is Conventional Current? C\REL LI i)
(viil) What is meant by Resistance? e o (viil)
(iX)  Where are Gang Capacitors used? e e 'uhﬁ)'.‘f & (w
3. Attempt any six parts. 12=2x8 - feplizge §F 30w
(  Whatis meant by Potential difference? e IS )
() Why radio waves are also called as carrier waves? St Enrdlipess )
(i) Whnat is meant by Shunt? Q el o (i)
(i¥) Whatis meant by Semi-conductor? (04 e AU (W)
(v} What is meant by Graphics? O . fe e W)
(Vi) What is meant by Data Management? /@ . Seipe e (i)
(Vi) - Why mabile telsphane s also called as cellular telephone? /O e bR UREAAE R (i)
(Vi) Whal is difference between E-mail and Volce-mail? O oo AN AN MG (viR)
{ix)  What is meant by Word Pracessing? ’ @O, e e Levgin ()
4. Attempt any six parts. 12=2x6 Cafevnlinge §f a4y
() What is meant by Total Intemal Reflaction? y el w’ng;AJ'i (0}
(W) Write any two uses of Radicisotopes. w2 MLl (i)
{iiiy  Wnat are the precautions against Radiations? Vet d2gL, ()
{iv) Defina Ultrasound, LA AS (i)
(v} Whatis Atificial Fibre? ‘el (v
(vi) What is meant by Spinning? Se e Ly (Vi)
(Vi) When did Pakistan launch ts first artificial satellie? Write its name. - et /s iitinry Lo b (i)
{viil} What is KANUPP? T{.V (KANUPP) ‘ueS {wiif)
(x}  What 1s meant by Cosmic Rays? fe e yndef (i)
SECTION-Il e
NOTE: - Attempt any three questions. ~Efel et 3 o)

5.(A) Wite any wo non-conventional methods of producing electricty, 4 P8 Pa0 o SILL g9 (s
(B} Write detail ncte on Thermal Poliution. S DO 1
8.(A) Explain the function of Fuses and Switches. Lok Arwid (06
(B) Write a note on Transfarmer -4“..‘,).;/4'4«‘*) ()
7.4A)  Explain two uses of Semi-conductor diode in detail 0 P Loz el 3720 0E ()7
(B) Wirite 3 note on Internat, -40.:.}{..;,"' (o)
B8.(A) Describe the role of laser in the treatment of any four diseases. LA t;!;:{;-m&up\yg-u’.}/ ()-8
() Write a note on Pharmaceutical industry i (L)
9(A) Write a note on Space Programme of Pakietan -g.‘”_', i,;('/:“f-‘-’éw L (g
(B) Write a note on SUPARCO. Teihy ()
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Note: you have four choices for each objective type question as A, B, C and D. The choice -;{/.'J")Sg.:.mr
which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark In that question. Attempt as
many questions as given In objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 A Ay

(1) The unit of energy is:- - 2N (1)
{A} Newton o/ (B) Joule Jz (C) Metre (D) Second 4

(2) We can save energy:- BELTGA @)

(A) By increasing personal venicles /L= Uz ¥ 313 (8) By making vehicles of heavier bodies 't iz
{C) By not walking £ /%8s (D) By avoiding unnecessary use of energy £ o JW i 3L 3

(3) The unit of power is:- ~e il (3)
(A) Watt =iy (B) Ampere % (C) Coulomb o4 (D} Joule .z

{4) The flow of charges is called:- T 4)

(A) Conventional current /P47 (B) Eiectric current w1/_22(@) Potential difference 3% (D) Resistance,*%

(5) The current which always flows in one direction is called - 7/ ) . - rw’:_.:;f.;,C.:/\j.‘_ﬁm.#/ = (5)
(A) Alternating current =2/ %57 (B) Voltage \’3" € B@ﬂ current w4/ % (D) Current 2/

(6} is an instrument which is used to measure potential difference - O .9..!70"25..&;/%)5\)’?{ (6)
(A) Ammeter A% (B) Ohmmeter /iy (C) Multimeter 345 . (D) Voltmeter 4.2k

(7) The diodes which are sensitive to light:- bninsod Liurngnds @
(A) Farward biased diode 5¢1i 4 Lab (B) Reverse biased dicde IélﬂQ’ )
(C) Photodiode 5¢155¥ (D) Light emitting diode 3¢ uz_:,z.fz:,uﬁ.r

(8) Out put device is:- SO S 1) (8)
(A) Manitor £\ (B) Keyboard &1 {C) Mouse 5t (D) Scanner 2

(9) There are basic components of communication system ~BSHRE A L o ek (9)

with reference to comptuer,

(A) Two u (B) Three uf' (C) Four % (D) Five ég

{10) Analogue signals are recorded on - < W (10)
(A) Magnetic tape ;< &¥ (B) Floppy disk ¢=LIQ8  (C)Hard Disk ;Lik4 (D) C.D 4545

(11) Optical fibres are fine strands of - -sz.mru'-"M WS (1)
(A) plastic £ _f-i (B) Metal Z % (C) Glass Z 1§’ {D) Diamond L &4}

(12) controls air traffic. : <t 8 (12)

() Satelites ¥ - (B) Radar /5., (C) Laser 2 (D) Orbit i

(13) The process of radio activity was discovered:- BTN g -1 gt, (13)

{A)1895 (B) 1896 {C)1887 (D) 1898

(14) The second biggest resource of commercial sugar in the world is:- = ;rxl/m’/':‘ﬁf/ucg.. (14)
{A) Sugarcane & (B) Wheat /" (C) Grapes .1 (D) Sugarbeet .57

(15) launched its first artificial sateliite in space AL WP (15)
(A) China L% (B) America Z§ ~! (C) Russia L (D) Japan Luy
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